


�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $545D4?L=>7> >><?>=5=F4 7>EG44DEF65==>7> 
EF4=44DF4 >E=>6=>7> >5M57> < ED54=57> (?>?=>7>) >5M57> >5D47>64=<O ?> E<<<<. 

 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<<  

&5>D<O EFD>5=<O 65M5EF64 

%FD>5=<5 4F><4 < ?5D<>4<G5E>4O E<EF5<4 

�F><. %<<<G5E><= M?5<5=F. �>EF>O=EF6> E>EF464 65M5EF64. �F=>E<F5?L=4O 
4F><=4O < >F=>E<F5?L=4O <>?5>G?OD=4O <4EE4. �4>>= E>ED4=5=<O <4EEO, 57> 7=4-
G5=<5 6 E<<<<. �>?L. �>?OD=4O <4EE4. '<E?> �6>744D>. �7>F>?O. 

'G5=<5 > ?5D<>4<G=>EF<. �5D<>4<G5E><= 74>>= < ?5D<>4<G5E>4O E<EF5<4 
M?5<5=F>6 �.�. �5=45?5564 �5D<>4<G5E><= 74>>= E<<<G5E><E M?5<5=F>6 �.�. 
�5=45?5564. $4E?D545?5=<5 M?5>FD>=>6 6 4F><4E M?5<5=F>6 ?5D6OE G5FOD5E ?5-
D<>4>6. �4?O5 < 5>?LL<5 ?5D<>4O, 7DG??O < ?>47DG??O. %4D4>F5D<EF<>4 >F-
45?L=OE E<<<G5E><E M?5<5=F>6 7?46=OE ?>47DG?? =4 >E=>64=<< ?>?>65=<O 6 ?5-
D<>4<G5E>>= E<EF5<5 < EFD>5=<O 4F><4. �=4G5=<5 ?5D<>4<G5E>>7> 74>>=4 4?O ?>-
=<<4=<O =4GG=>= >4DF<=O <<D4, D476<F<O =4G>< < F5E=<><. 

%<<<G5E>4O E6O7L < EFD>5=<5 65M5EF64 

�<4O E<<<G5E>>= E6O7<. �F><=4O E6O7L < E?>E>5O 55 >5D47>64=<O. �?<=4 < 
M=5D7<O E6O7<. �>=OF<5 >5 M?5>FD>>FD<F4F5?L=>EF< E<<<G5E><E M?5<5=F>6. %F5-
?5=L >><E?5=<O. �>==4O E6O7L < 55 >5D47>64=<5. �4DO4 <>=4. �5F4??<G5E>4O E6O7L. 
%<<<G5E><5 D54>F<<. &<?O E<<<G5E><E D54>F<=: D54>F<< E>54<=5=<O, D47?>65-
=<O, 74<5M5=<O, <>==>7> >5<5=4. �><E?<F5?L=>-6>EEF4=>6<F5?L=O5 D54>F<<. 

 

�5>D74=<G5E>4O E<<<O 

�?4EEO =5>D74=<G5E><E E>54<=5=<= 

�>E<4O E>?5>5D47GNM<5 < =5E>?5>5D47GNM<5; >E=>6=O5, ><E?>F=O5, 4<D>F5D-
=O5, <E ?>?GG5=<5 < E6>=EF64. �E=>64=<O, ><E?>FO, 4<D>F5D=O5 7<4D>>E<4O, =>-
<5=>?4FGD4, E?>E>5O ?>?GG5=<O, E6>=EF64. %>?< ED54=<5, ><E?O5, >E=>6=O5, E?>-
E>5O ?>?GG5=<O, E6>=EF64. �74<<>E6O7L D47?<G=OE >?4EE>6 =5>D74=<G5E><E E>-
54<=5=<=. 

%<<<O <5F4??>6 

�>?>65=<5 6 ?5D<>4<G5E>>= E<EF5<5 <5F4??>6. �E>55==>EF< EFD>5=<O 4F>-
<>6 <5F4??>6. �5F4??<G5E>4O E6O7L. %4D4>F5D=O5 D<7<G5E><5 < E<<<G5E><5 E6>=-
EF64. �>DD>7<O <5F4??>6. -5?>G=O5 <5F4??O. �5M4O E4D4>F5D<EF<>4 =4 >E=>65 
?>?>65=<O 6 ?5D<>4<G5E>>= E<EF5<5 �.�. �5=45?5564. %>54<=5=<O =4FD<O, >4?<O 

6 ?D<D>45, <E ?D<<5=5=<5.  �5M4O E4D4>F5D<EF<>4 M?5<5=F>6 7?46=OE ?>47DG?? II 
< III 7DG?? ?5D<>4<G5E>>= E<EF5<O �.�. �5=45?5564. �4?LF<=, 57> E>54<=5=<O 6 

?D<D>45. �?N<<=<=. %4D4>F5D<EF<>4 4?N<<=<O < 57> E>54<=5=<=. �<D>F5D=>EFL 

>>E<44 4?N<<=<O. �D<<5=5=<5 4?N<<=<O < 57> E??46>6. �5?57>. %4D4>F5D<EF<>4 
65?574, >>E<4>6, 7<4D>>E<4>6, E>?5= 65?574 (II < III). �D<D>4=O5 E>54<=5=<O 65-
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?574. %??46O 65?574 - GG7G= < EF4?L. �D<<5=5=<5 E??46>6 < E>54<=5=<= 65?574. 
�5F4??GD7<O. �5F4??O 6 E>6D5<5==>= F5E=<>5. $476<F<5 >F5G5EF65==>= <5F4?-
?GD7<< < 55 7=4G5=<5 4?O D476<F<O 4DG7<E >FD4E?5= ?D><OL?5==>EF<. 

%<<<O =5<5F4??>6 

�4?>75=O. �5M4O E4D4>F5D<EF<>4 74?>75=>6. %?>D. $<7<G5E><5, E<<<G5E><5 

E6>=EF64. $54>F<< E =5>D74=<G5E><<< < >D74=<G5E><<< 65M5EF64<<. �>?GG5=<5 
E?>D4 6 ?D><OL?5==>EF<. %>54<=5=<O E?>D4. �D<<5=5=<5 E?>D4 < 57> E>54<=5-
=<=. 

 �>47DG??4 ><E?>D>44. �5M4O E4D4>F5D<EF<>4 M?5<5=F>6 7?46=>= ?>47DG?-
?O VI 7DG??O. �<E?>D>4. %<<<G5E><5, D<7<G5E><5 E6>=EF64. �??>FD>?<O. �D<<5-
=5=<5 ><E?>D>44. �DG7>6>D>F ><E?>D>44 6 ?D<D>45.  

%5D4. $<7<G5E><5 < E<<<G5E><5 E6>=EF64 E5DO. %>54<=5=<O E5DO: E5D>6>-
4>D>4, >>E<4O E5DO. %5D=4O ><E?>F4, 55 E6>=EF64, E<<<G5E><5 >E=>6O ?D><76>4-
EF64.  

�>44. $<7<G5E><5, E<<<G5E><5 E6>=EF64. �D<EF4??>7<4D4FO. �=4G5=<5 6>4O 
6 ?D><OL?5==>EF<, E5?LE>>< E>7O=EF65, 5OFG, ?D<D>45. �ED4=4 6>4>5<>6 >F 74-
7DO7=5=<O.  

�>47DG??4 47>F4. �7>F. %>54<=5=<O 47>F4. $<7<G5E><5 < E<<<G5E><5 E6>=-
EF64. �D><76>4EF6> 4<<<4>4. �D<<5=5=<5 4<<<4>4, 47>F=>= ><E?>FO < 55 E>?5=. 

$>ED>D. $>ED>D, 57> 4??>FD>?=O5 D>D<O, D<7<G5E><5 < E<<<G5E><5 E6>=-
EF64. �>E<4O D>ED>D4 (V), D>ED>D=4O ><E?>F4 < 55 E>?<. $>ED>D=O5 G4>5D5=<O. 

�>47DG??4 G7?5D>44. �5M4O E4D4>F5D<EF<>4 M?5<5=F>6 IV 7DG??O 7?46=>= 
?>47DG??O. $<7<G5E><5 < E<<<G5E><5 E6>=EF64. '7?5D>4, 57> 4??>FD>?=O5 D>D-
<O. %>54<=5=<O G7?5D>44: >>E<4O (II, IV), G7>?L=4O ><E?>F4 < 55 E>?<. 

�D5<=<=. %>54<=5=<O >D5<=<O 6 ?D<D>45, <E <E?>?L7>64=<5 6 F5E=<>5. 
 

%<<<G5E>4O ><=5F<>4 < >4F4?<7. %<<<G5E>>5 D46=>65E<5 

&5??>6>= MDD5>F E<<<G5E><E D54>F<=. %>ED4=5=<5 < ?D56D4M5=<5 M=5D7<< 

?D< E<<<G5E><E D54>F<OE. %>>D>EFL E<<<G5E><E D54>F<=. �46<E<<>EFL E>>D>EF< 
>F ?D<D>4O D547<DGNM<E 65M5EF6, >>=F5=FD4F<<, F5<?5D4FGDO. �4F4?<7. �5D4-
F<<>EFL E<<<G5E><E D54>F<=. %<<<G5E>>5 D46=>65E<5 < GE?>6<O 57> E<5M5=<O. 

 

$4EF6>DO. -?5>FD>?<F<G5E>4O 4<EE>F<4F<O 65M5EF6 

$4EF6>DO. $4EF6>D<<>EFL 65M5EF6. �46<E<<>EFL D4EF6>D<<>EF< 65M5EF6 >F 
<E ?D<D>4O, >F F5<?5D4FGDO, 446?5=<O. &5??>6>= MDD5>F ?D< D4EF6>D5=<<. �>=-
F5=FD4F<O D4EF6>D>6. �=4G5=<5 D4EF6>D>6 6 ?D><OL?5==>EF<, E5?LE>>< E>7O=-
EF65, 5OFG. -?5>FD>?<F<G5E>4O 4<EE>F<4F<O. %F5?5=L 4<EE>F<4F<<. %<?L=O5 < 
E?45O5 M?5>FD>?<FO. $54>F<< <>==>7> >5<5=4. -?5>FD>?<F<G5E>4O 4<EE>F<4F<O 
=5>D74=<G5E><E < >D74=<G5E><E ><E?>F, M5?>G5= < E>?5=. 

�D74=<G5E>4O E<<<O 
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%FD>5=<5 >D74=<G5E><E E>54<=5=<= 

�E=>6=O5 ?>?>65=<O F5>D<< E<<<G5E>>7> EFD>5=<O �.�. �GF?5D>64. �46<-
E<<>EFL E6>=EF6 65M5EF6 >F E<<<G5E>>7> EFD>5=<O. �7><5D<O. -?5>FD>==4O ?D<-
D>44 E<<<G5E><E E6O75= 6 <>?5>G?4E >D74=<G5E><E E>54<=5=<=, E?>E>5O D47DO64 
E6O75=, ?>=OF<5 > E6>5>4=OE D44<>4?4E. 

�D545?L=O5 G7?56>4>D>4O 

�><>?>7<G5E><= DO4 ?D545?L=OE G7?56>4>D>4>6, <E M?5>FD>==>5 < ?D>-
EFD4=EF65==>5 EFD>5=<5 (sp3 - 7<5D<4<74F<O). �5F4=. �><5=>?4FGD4, D<7<G5E><5 < 
E<<<G5E><5 E6>=EF64 ?D545?L=OE G7?56>4>D>4>6. &<>?>?4D4D<=O. �D545?L=O5 
G7?56>4>D>4O 6 ?D<D>45. 

�5?D545?L=O5 G7?56>4>D>4O 

�><>?>7<G5E><= DO4 MF<?5=>6OE G7?56>4>D>4>6. �6>==4O E6O7L - 55FF4 < ?< 
- E6O7<, sp2 - 7<5D<4<74F<O. $<7<G5E><5 E6>=EF64. �7><5D<O G7?5D>4=>7> E>5?5F4 < 
?>?>65=<5 46>==>= E6O7<. �><5=>?4FGD4 MF<?5=>6OE G7?56>4>D>4>6. %<<<G5E><5 
E6>=EF64. �>?GG5=<5 G7?56>4>D>4>6 D54>F<5= 457<4D<D>64=<O. �D<<5=5=<5 MF<-
?5=>6OE G7?56>4>D>4>6. �D<D>4=O= >4GGG>, 57> EFD>5=<5 < E6>=EF64. �F5F<?5=. 
&D>==4O E6O7L, sp - 7<5D<4<74F<O. �><>?>7<G5E><= DO4 4F5F<?5=4. $<7<G5E><5 < 
E<<<G5E><5 E6>=EF64, ?D<<5=5=<5 4F5F<?5=4. �>?GG5=<5 57> >4D5<4=O< E?>E>-
5>< < <7 <5F4=4. 

�D><4F<G5E><5 G7?56>4>D>4O 

 �5=7>?, 57> M?5>FD>==>5 EFD>5=<5, E<<<G5E><5 E6>=EF64. �D><OL?5==>5 
?>?GG5=<5 < ?D<<5=5=<5 55=7>?4. �>=OF<5 > O4>E<<<>4F4E, GE?>6<O <E <E?>?L7>-
64=<O 6 E5?LE>>< E>7O=EF65 =4 >E=>65 FD55>64=<= >ED4=O >>DG64NM5= ED54O.  

�D<D>4=O5 <EF>G=<>< G7?56>4>D>4>6 

 �5DFL, ?D<D>4=O= 747 < ?>?GF=O5 =5DFO=O5 747O, G7>?L. $D4>F<>==4O ?5-
D57>=>4 =5DF<. �D5><=7. �D><4F<74F<O =5DF5?D>4G>F>6. �ED4=4 >>DG64NM5= 
ED54O ?D< =5DF5?5D5D45>F>5. 

%?<DFO. $5=>?O. �?L457<4O 

%?<DFO, <E EFD>5=<5, E<<<G5E><5 E6>=EF64. �7><5D<O. �><5=>?4FGD4 E?<D-
F>6. %<<<G5E><5 E6>=EF64 E?<DF>6. /4>6<F>EFL E?<DF>6, <E 7G5<F5?L=>5 45=EF6<5 
=4 >D74=<7< G5?>65>4. �5=5F<G5E>4O E6O7L <564G G7?56>4>D>44<< < E?<DF4<<. 
$5=>?, 57> EFD>5=<5, D<7<G5E><5 < E<<<G5E><5 E6>=EF64 D5=>?4. �D<<5=5=<5 D5-
=>?4. �ED4=4 >>DG64NM5= ED54O >F ?D><OL?5==OE >FE>4>6, E>45D64M<E D5=>?. 
�?L457<4O, <E EFD>5=<5, E<<<G5E><5 E6>=EF64. �>?GG5=<5 < ?D<<5=5=<5 <GD46L-
<=>7> < G>EGE=>7> 4?L457<4>6. 

�4D5>=>6O5 ><E?>FO 

�><>?>7<G5E><= DO4 ?D545?L=OE >4=>>E=>6=OE ><E?>F, <E EFD>5=<5. �4D-
5>>E<?L=4O 7DG??4, 674<<=>5 6?<O=<5 >4D5>>E<?L=>= 7DG??O < G7?56>4=>7> D44<-
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>4?4. $<7<G5E><5 < E<<<G5E><5 E6>=EF64 >4D5>=>6OE ><E?>F. '>EGE=4O, ?4?L<<-
F<=>64O, EF54D<=>64O, >?5<=>64O ><E?>FO. �>?GG5=<5 < ?D<<5=5=<5 >4D5>=>6OE 
><E?>F. 

%?>6=O5 MD<DO. �<DO 

%?>6=O5 MD<DO. %FD>5=<5, ?>?GG5=<5 D54>F<5= MF5D<D<>4F<<. %<<<G5E><5 
E6>=EF64. �<DO 6 ?D<D>45, <E EFD>5=<5 < E6>=EF64. %<=F5F<G5E><5 <>NM<5 ED54-
EF64, <E 7=4G5=<5. �4M<F4 >>DG64NM5= ED54O >F 747DO7=5=<O E<=F5F<G5E><<< 
<>NM<<< ED54EF64<<. 

'7?56>4O 

�?N>>74, 55 EFD>5=<5, E<<<G5E><5 E6>=EF64, D>?L 6 ?D<D>45. %4E4D>74, 55 
7<4D>?<7. �D4E<4? < F5??N?>74, <E EFD>5=<5, E<<<G5E><5 E6>=EF64, D>?L 6 ?D<D>-
45. �D<<5=5=<5 F5??N?>7O < 55 ?D><76>4=OE. �>=OF<5 >5 <E>GEEF65==OE 6>?>>-
=4E. 

�<<=O. �<<=>><E?>FO 

%FD>5=<5 4<<=>6. �74<<>45=EF6<5 E 6>4>= < ><E?>F4<<. �=<?<=. �>?GG5-
=<5 4=<?<=4 <7 =<FD>55=7>?4; ?D4>F<G5E>>5 7=4G5=<5 4=<?<=4. %FD>5=<5, E<<<G5-
E><5 >E>55==>EF<, <7><5D<O 4<<=>><E?>F. �74<<>45=EF6<5 4<<=>6 E 6>4>= < ><E-
?>F4<<. �=<?<=. �>?GG5=<5 4=<?<=4 <7 =<FD>55=7>?4, ?D4>F<G5E>>5 7=4G5=<5 
4=<?<=4.%<=F57 ?5?F<4>6, <E EFD>5=<5. �>=OF<5 >5 47>FE>45D64M<E 75F5D>F<>-
?<G5E><E E>54<=5=<OE =4 ?D<<5D5 ?<D<4<=4 < ?<DD>?4. 

�5?>< 

�G>?5<=>6O5 ><E?>FO. %FD>5=<5, EFDG>FGD4 < E6>=EF64 55?>>6. 'E?5E< 6 
<7GG5=<< < E<=F575 55?>>6. �=4G5=<5 <<>D>5<>?>7<G5E>>= ?D><OL?5==>EF<. 

�G>?5<=>6O5 ><E?>FO, EFD>5=<5 =G>?5>F<4>6. �D<=F<? >><??5<5=F4D=>EF< 
6 ?>EFD>5=<< 46>==>= E?<D4?< ���. $>?L =G>?5<=>6OE ><E?>F 6 6<7=545OF5?L-
=>EF< >?5F><. 

 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65=: 
7=4FL: 

2 >E=>6=O5 ?>?>65=<O F5>D<< EFD>5=<O 4F><4, D>D<G?<D>6>G ?5D<>4<G5-
E>>7> 74>>=4, ?>?>65=<O F5>D<< E<<<G5E>>= E6O7<; 

2  >E=>6=O5 >?4EEO =5>D74=<G5E><E E>54<=5=<=;  
2 >E=>6=O5 ?>?>65=<O F5>D<< ><=5F<>< < >4F4?<74, E<<<G5E>>5 D46=>65-

E<5, ?D<=F<? �5 ,4F5?L5;  
2 E<?L=O5 < E?45O5 M?5>FD>?<FO;  
2 E?>E>5O 6OD465=<O E>EF464 D4EF6>D>6; 
2 E<<<G5E>GN 4>F<6=>EFL <5F4??>6; 
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2 >E=>6O F5>D<< EFD>5=<O >D74=<G5E><E E>54<=5=<=, =><5=>?4FGDG, <E 
E?>E>5O ?>?GG5=<O < ?D<<5=5=<O. 

G<5FL: 

2 >?<EO64FL EFD>5=<5 4F><>6 M?5<5=F>6 < >5NOE=OFL ?5D<>4<G=>EFL <7<5-
=5=<O <E E6>=EF6, >?D545?OFL 6<4O E6O75= 6 65M5EF64E; 

2  >F?<G4FL ?> >?4EE4< =5>D74=<G5E><5 65M5EF64 < ?D>6>4<FL <564G =<<< 
D47?<G=O5 E<<<G5E><5 D54>F<<;  

2 ?D<<5=OFL 74>>= 45=EF6GNM<E <4EE 4?O D4EG5F4 E>>D>EF< E<<<G5E><E D5-
4>F<=, ?D54E>47O64FL =4?D46?5=<O E<5M5=<O D46=>65E<O;  

2 >F5=<64FL ?D>F5>4=<5 <>==>-<>?5>G?OD=OE GD46=5=<=; 
2 6OG<E?OFL 4>?N <=4<6<4G4?L=OE 65M5EF6 6 D4EF6>D4E; 
2  D4EEF46?OFL >>MDD<F<5=FO 6 GD46=5=<OE D54>F<= <5F>4>< M?5>FD>==>7> 

54?4=E4; 
2 >?<EO64FL E6>=EF64 >D74=<G5E><E E>54<=5=<= =4 >E=>65 F5>D<< <E EFD>5-

=<O, 674<<=>7> 6?<O=<O 4F><>6 < D54>F<>==>= E?>E>5=>EF<, =47O64FL E<<<G5E><5 
E>54<=5=<O >D74=<G5E>>7> ?D><EE>645=<O; 

2 ?D<<5=OFL ?>?GG5==O5 7=4=<O 4?O D5L5=<O E<<<G5E><E 7444G. 
 

III. �D<<5DO F5EF>6OE 7444=<= 

�444=<O >4F57>D<< � 

 

� 7444=<OE�1&�10 6O55D<F5 >4<= ?D46<?L=O= >F65F < 74?<L<F5 57> =><5D 

 

� 1. %>>?L>>  <4>E<<4?L=> M?5>FD>=>6 <>65F =4E>4<FLEO 6 4p E>EF>O=<<?   
1)  6               2) 10               3)  2              4)  14 

 

� 2. '4EF<FO, >5?444NM<5 >4<=4>>6O< EFD>5=<5< 6=5L=57> M=5D75F<G5E>>7> 
GD>6=O, D4E?>?>65=O 6 DO4G &   
1)  Ar, ClË, Ca2+        2)  O2-, Mg2+, Ar           3)  Ne, Al3+,S2-                 4)   Ne, ClË , Ca2+ 

 

� 3. �>64?5=F=4O =5?>?OD=4O E6O7L E4D4>F5D=4 4?O& 

1)  6>4O            

2)  E?>D>6>4>D>44 

3)  ><E?>D>44                

4)   ?>64D5==>= E>?< 

 

� 4. �D5<=<56>= ><E?>F5 E>>F65FEF6G5F D>D<G?4 

1)   H3PO4        2)  H2CO3         3)  HNO3            4)   H2SiO3 
 

� 5. �<D>F5D=O< O6?O5FEO 7<4D>>E<4& 

1)  <4D74=F4 (VII)     

2)  >4?LF<O     
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3)  54D<O   
4)   4?N<<=<O 
 

� 6. �4><5 65M5EF64 <>7GF 674<<>45=EF6>64FL <564G E>5>=? 

 1)   H2CO3  <  P2O5      2)   H2S  <  Na2O     3)   %O2   <  CrO3     4)   Cu(OH)2  <  K2O   

 

� 7.  %>>D4MU==><G <>==>-<>?5>G?OD=><G GD46=5=<N  
Fe3+ + 3OHË ³ Fe(OH)3 

E>>F65FEF6G5F 674<<>45=EF6<5 <564G& 

1)  FePO4   <  NH4OH            2)  FeCl3  < Mg(OH)2      

3)  FeS  < KOH                     4)  Fe2(SO4)3  <  KOH 

 

� 8. �7><5D4<< O6?ONFEO& 

1) ?5=F4= < 75>E4=                            
2) D>D<4?L457<4 < <GD46L<=4O ><E?>F4 

3) MF4=>? < 4<<5F<?>6O= MD<D        
4) 55=7>? < D5=>? 

 

� 9. $G=>F<>=4?L=>= 7DG??>= D5=>?>6 O6?O5FEO . . . 

1) 7DG??4 - NH2                                                     2) 7DG??4 - OH 

3) 7DG??4  - COOH                             4) 7DG??4 - NO2 

 

� 10. �E=>6=O< ?D>4G>F>< 6 D54>F<< MF5D<D<>4F<< O6?O5FEO & 

1) ?D>EF>= MD<D                                 2) 4=7<4D<4 

3) E?>6=O= MD<D                               4) 4F5F4?L 

 

�444=<O >4F57>D<< � 

 

� 7444=<OE � 1&� 5 6O55D<F5 ?D46<?L=O= 64D<4=F >F65F4 < ?>OE=<F5 57> 

 

� 1. �?O G65?<G5=<O E>>D>EF< ?DO<>= D54>F<<  6 16 D47          
  4 HCl (747)  + O2 (747)     <==> 2 H2O (?4D)  + 2 Cl2 (747)    

>>=F5=FD4F<N E>?O=>= ><E?>FO =5>5E>4<<> G65?<G<FL  
1) 16           2)  8              3)  4               4)  2             

�4?<L<F5 ><=5F<G5E><5 GD46=5=<O ?DO<>7> ?D>F5EE4 < ?>4F65D4<F5 >F65F 
D4EGUF><.   
 

� 2.  $46=>65E<5 6 E<EF5<5  
SO3 (747) + C (>D<EF4??.)   <==>  SO2 (747) + CO (747),   & r H > 0 

E<5EF<FEO 6 EF>D>=G ?D>4G>F>6 D54>F<<  
1) ?D< G65?<G5=<< F5<?5D4FGDO           
2) ?D< G65?<G5=<<  >5M57> 446?5=<O 

3) ?D< G<5=LL5=<< >5M57> 446?5=<O             

http://www.chemistry.ssu.samara.ru/chem1/P5_3.htm#2
http://www.chemistry.ssu.samara.ru/chem1/P5_3.htm#2
http://www.chemistry.ssu.samara.ru/chem1/P5_3.htm#2
http://www.chemistry.ssu.samara.ru/chem1/P5_3.htm#2
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4) ?D< G<5=LL5=<< >>=F5=FD4F<< S�3 

 

� 3. � D4EF6>D5 EG?LD4F4 F<=>4 >5NU<>< 0,05 ? < >>=F5=FD4F<5= 1 <>?L/? E>45D-
6<FEO  ___ 7D4<<(>6)  65M5EF64   
1) 161            2)  8,05          3)  80,5         4)  16,1       

�D46<?L=>EFL >F65F4 ?>4F65D4<F5 D4EGUF><. 
 

� 4. �>MDD<F<5=F ?5D54 >><E?<F5?5< 6 GD46=5=<<   
HNO2  +  KMnO4  +  H2SO4 ³  HNO3  +  MnSO4  +  K2SO4  +  H2O 

D465=                                 1)  5           2)   7              3)  2          4)  10. 
�?D545?<F5 EF5?5=< >><E?5=<O 6E5E 65M5EF6, GG4EF6GNM<E 6 D54>F<<, =4?<L<F5 
GD46=5=<O ?D>F5EE>6 >><E?5=<O < 6>EEF4=>6?5=<O < D4EEG<F4=F5 >>MDD<F<5=FO 6 
44==>= D54>F<<. 
 

� 5. �D< =4DGL5=<< F<=>>6>7> ?>>DOF<O =4 65?57=>< <745?<< 6> 6?46=>< 6>7-
4GE5 =4 >4F>45 5G45F ?D>F5>4FL D54>F<O, GD46=5=<5 >>F>D>= <<55F 6<4 ... 

1)  O2 + 2H2O + 4e>  ³  4OH>     2)  Zn0 3 2e> ³ Zn2+ 

3) > Fe2+ + 2e> ³ Fe0                 4)  Fe0 3 2e>  ³ Fe2+ 

�4?<L<F5 GD46=5=<5 4=>4=>7> ?D>F5EE4. �> >4>><G <5E4=<7<G ?D>F5>45F >>DD>-
7<>==O= ?D>F5EE? 
 

IV. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

 

�EFG?<F5?L=>5 <E?OF4=<5 ?> E<<<< 4?O ?>EFG?4NM<E =4 =4?D46?5=<O ?>4-
7>F>6>< 54>4?46D>6 ?D>6>4OFEO 6 D>D<5 ?<EL<5==>7> F5EF<D>64=<O. �D>4>?6<-
F5?L=>EFL ?<EL<5==>7> F5EF<D>64=<O 3 60 <<=GF. $57G?LF4FO F5EF<D>64=<O >F5-
=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 15 F5EF>6OE 6>?D>E>6. �>?D>EO 45?OFEO ?> >4F57>-
D<O< E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=) < 5 
6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=). %G<<4D=4O >F5=>4 =5 
?D56OL45F 100 54??>6. 

 

V. �E>55==>EF< EFDG>FGDO 7444=<= < E<EF5<O >F5=<64=<O  
?D< ?D>6545=<< 6EFG?<F5?L=OE <E?OF4=<=  

6 D>D<5 E>55E54>64=<O 

 

� E?GG45 ?D>6545=<O 6EFG?<F5?L=>7> <E?OF4=<O 6 D>D<5 E>55E54>64=<O 6 
EFDG>FGDG M>74<5=4F<>==>= D45>FO < E<EF5<G >F5=<64=<O 6=>E<FEO DO4 <7<5=5-
=<=.  �444=<5 E>EF><F <7 15 6>?D>E>6, ?D54?>?474NM<E GEF=O= >F65F. �4 ?>47>-
F>6>G > M>74<5=G 6 D>D<5 E>55E54>64=<O >F6>4<FEO 40 <<=GF. 

�464O= 6>?D>E E ?5D6>7> ?> 45EOFO= >F5=<645FEO >F 0 4> 5 54??>6: 5E?< 6> 
6D5<O E>55E54>64=<O 44= ?>?=>EFLN 65D=O= >F65F 3 5 54??>6, < 0 54??>6, 5E?< >F-
65F 44= =565D=O=.  
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�D< >F65F5 6 G4EF< � >F5=<645FEO ?D46<?L=>EFL < ?>?=>F4 D4E>DOF<O 6>-
?D>E>6 M>74<5=4F<>==>7> 5<?5F4; ?>7<G=>EFL < G5F>>EFL, E?>E>5=>EFL 4=4?<7<D>-
64FL < ED46=<64FL D47?<G=O5 ?>4E>4O > D5L5=<N ?>EF46?5==>= E<<<G5E>>= 7444-
G<; 7>F>6=>EFL >F65G4FL =4 4>?>?=<F5?L=O5 6>?D>EO ?> EGM5EF6G M>74<5=4F<>=-
=>7> 5<?5F4. �464O= M?5<5=F E >4<==44F4F>7> ?> ?OF=44F4FO= >F5=<645FEO >F 0 
4> 10 54??>6: >F65F 4>?65= >FD464FL ?>?=>FG D4E>DOF<O 6>?D>E4, ?D46<?L=>5 D5-
L5=<5 7444G< E 4=4?<7>< < ?>OE=5=<5< 3 >F 6 4> 10 54??>6, ?D46<?L=O= 6O5>D 
>F65F>6, <7 ?D54?>65==OE 64D<4=F>6, => 557 D5L5=<O < ?>OE=5=<O - 5 54??>6, < 0 
54??>6, 5E?< 44==O5 >D<F5D<< =5 6O?>?=5=O. 

 

VI. $5>><5=4G5<4O ?<F5D4FGD4 

 
1. �>6>L<=E><= �.�., �>6>L<=E>4O �.%. %<<<O. 10 >?4EE. �47>6O= GD>-

65=L: 'G55=<> 4?O >5M5>5D47>64F5?L=OE GGD5645=<=.3 2-5 <744=<5. - �.: ��� 
«&�� «$GEE>>5 E?>6> 3 $%», 2008. 3 176 E. 

2. �>6>L<=E><= �.�., �>6>L<=E>4O �.%. �D74=<G5E>4O E<<<O. 11 >?4EE. 
�47>6O= GD>65=L: 'G55=<> 4?O >5M5>5D47>64F5?L=OE GGD5645=<=.3 3-5 <744=<5. - 
�.: ��� «&�� «$GEE>>5 E?>6> 3 $%», 2009. 3 176 E. 

3. �?<=>4 �.�. �5M4O E<<<O: GG55=<> [&5>EF] / �.�. �?<=>4. 3 �.: ���-
$'%, 2011. 3 752 E. 

4. �45D<5?O= �.%. %<<<O. 8 >?4EE: GG55=<> 4?O >5M5>5D47>64F5?L=OE 
GGD5645=<= / �.%. �45D<5?O=. 3 12-5 <744=<5, EF5D5>F<?. 3 �.: �D>D4, 2007. 3 267, 

[5] E.: <?. 
5. �45D<5?O= �.%. %<<<O. 9 >?4EE: GG55=<> 4?O >5M5>5D47>64F5?L=OE 

GGD5645=<= / �.%. �45D<5?O=. 3 13-5 <744=<5. 3 �.: �D>D4, 2008. 3 267, [5] E.: <?. 
6. �45D<5?O= �.%. %<<<O. 11 >?4EE: GG55=<> 4?O >5M5>5D47>64F5?L=OE 

GGD5645=<= / �.%. �45D<5?O=, �.�. �OE>64. 3 6-5 <744=<5. 3 �.: �D>D4, 2006. 3 

362, [6] E.: <?. 
7. $G47<F<E, �G=F<E �>45>6<G. %<<<O. 10 >?4EE [&5>EF]: GG55=<> 4?O >5M5-

>5D47>64F5?L=OE >D74=<74F<= E ?D<?>65=<5< =4 M?5>FD>==>< =>E<F5?5 (DVD): 
547>6O= GD>65=L: D5>><5=4>64=> �<=<EF5DEF6>< >5D47>64=<O < =4G>< $>EE<=-
E>>= $545D4F<< / $G47<F<E �G=F<E �>45>6<G, $5?L4<4= $D<F �5=D<E>6<G. - 

�>E>64: �D>E65M5=<5, 2014 (%<>?5=E>: %<>?. ?>?<7D4D. >><5<=4F, 2014). 3 224 

E.: <?. + �D<?>65=<5 (1 M?5>FD>=. >?F. 4<E>). 3 �D54<.-4?D. G>47.: E. 220-222. 

8.  $G47<F<E, �G=F<E �>45>6<G. %<<<O. 11 >?4EE [&5>EF]: GG55=<> 4?O >5-
M5>5D47>64F5?L=OE >D74=<74F<= E ?D<?>65=<5< =4 M?5>FD>==>< =>E<F5?5 (DVD: 

547>6O= GD>65=L: D5>><5=4>64=> �<=<EF5DEF6>< >5D47>64=<O < =4G>< $>EE<=-
E>>= $545D4F<< / $G47<F<E �G=F<E �>45>6<G, $5?L4<4= $D<F �5=D<E>6<G. - 

�>E>64: �D>E65M5=<5, 2014 (%<>?5=E>: %<>?. ?>?<7D4D. >><5<=4F, 2014). 3 223 

E.: <?. + �D<?>65=<5(1 M?5>FD>=.->?F. 4<E>). 3 �D54<. G>47.: E. 220-221. 

9. �4>4D>64, �.�.  �5>D74=<G5E>4O E<<<O: 'G55=>5 ?>E>5<5 / �.�. �4>4-
D>64; �4>4D>64 �.�. 3 %4D4F>6: �= �< -D �54<4, 2010. 3 99 E. URL: 

http://www.iprbookshop.ru/730 

http://www.iprbookshop.ru/730
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10. &<F4D5=>>, �.�. �D74=<G5E>4O E<<<O: 'G55=>5 ?>E>5<5 / �.�. &<F4-
D5=>>; &<F4D5=>> �.�. 3 %4D4F>6: �= �< -D �54<4, 2010. 3 131 E. URL: 

http://www.iprbookshop.ru/731 
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